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® [LHIAHIN: <IuA ® i LYFHJEVEHE: 2.0V to 6.0V

@ (LHEAEIIFE: Tce<<5.5uh, @ VCC=6V,Ta=25°C @ HIEJE: DIP14 . SOP14
B SRR
® 7RIk
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® TfENH (WHgEas, A &%

B HREAMERTIRE 2 X DIP14/50P14
EWRrS | &l BlHFES | &1l |/ 1
DIP14/SOP14 | & X | DIP14/S0OP14 | & X it [Mvec
1 V1 14 vee A2 [13]va
2 Al 13 Y4 B1[3] 1284
3 B1 12 B4 v2[4| 1]as
4 Y2 11 A4 A2[s] [10]v3
5 A2 10 Y3 8261 @33
6 B2 9 B3 — ’E“
7 GND 8 A3
JE: TAHCXXXD 7 DIP14 3%, 7T4HCXXXS R SOP14 H34,
B KRS
S8 5 e PR A Hfy
TAEH Ve 6.5 v
I/ H Vine Vour -0. 3-Vec+0. 3V v
BN R H PO Tout +25 mA
Vee B GND HL it Icc +50 mA
FERLIZ Po 500 mW
TARREE Ta 0-70 C
TEfi Ts -65-150 C
1 R B Tw 260, 10s C
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Ver 1.0G
B FEZEE B EER
Inputs Output
A A | B Y
BW Y Lo oL H
L H L
H L L
Y=A+B — -
H=High logic level
L=low logic level
B T/E%G
| Zins] B/ME HAE =Y N Vv
TAFHE Vee 2 5 6 v
N R Vin. Vout 0 vCe vV
i A LT/ - VCC=2. 0V 0 1000 ns
B I VCC=4. 5V 0 500 ns
VCC=6. OV 0 400 ns
TAERE Ta 0 60 C
WA
ERBEZRFME: T=25C
5 iH MR 2% VCC(V) | fe/ME | BUE | FoRAH | A
2.0 1.5 v
Vin | A HSPABGR N E 4.5 3.15 v
6.0 4.2 v
2.0 0.5 v
Ve | KSR R L 4.5 1. 35 vV
6.0 1.8 v
Ve Ve or V 2.0 1.9 v
|IIOUT| I<HzouAIL 4.5 4.4 v
Von | mH- Pt 6.0 5.9 v
Vi= Vi | |Tour| <4.0mA 4.5 3.7 4.4 v
or Vi |Tour]| <5.2mA 6.0 5.2 5.8 v
2.0 0.1 v
Vi= Vi or Vi 4.5 0.1 | v
Vo | fEpamegs | o S2O0MA 6.0 01 | v
Vi= Vi | |Iour| <4.0mA 4.5 0. 10 0.4 v
or Vi |Tour| <5.2mA 6.0 0.11 0.5 v
Iv | S\ HLIR Vi=Vcc or GND 6.0 1 uA
Icc | TAEHR Vi=Vccor GND,Ioyr=0pA | 6.0 5.5 ul
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Ver 1.0G
TSR Ta=25C Vee=5. 0V, t.=t:<20ns WK 772
A 55 DA 2% BME | UAUE | BORE <R v
B AL R 7] tere G=19pk 30 ns
W R
1. WAL E
V
CcC / \ \
2 Al | f
el .
g = Bl|] — Y1 Output
P.G. 2. ~_A_JD - T
Zout= 50Q §, | B = —‘.” |
o Al H 1 vi —=CL
I — 9 ..
£y » Bi! ’ , 7T
77T \ / /
2. WENEREHR
tr Ath
Input , Mid .
10% - 10% oV
. tpLH J
_ ’ 90% VoH
output Mid Mid
0, 0,
(10% 10% Ve
trHL trH
7E: 1. See Testing Table #82¥it HL 2= Hh AR MR H 5
2. CL LB NAMEN L Zs (0603) , FEilrfr i B HIEE N, HAHEE S GND;
3. Input: ¥s A% AHFE, £=500kHz, D=50%; tr=tf<<20ns;
4, Output: Y ¥k,
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Ver 1.0G
B HEEER B, K/ (FET)
DIP14
G.40 +0.20 ’“ﬂ
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7.62
0.300 325 +020 0.20 MIN
0.128 =0.008 0.008
= = 5.08 . 3.30 +0.30
J "1 JlI 0.200 MAX 0.130 +0.012
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+.004
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Ver 1.0G
SOP14
0.05
MIN 5502
1.55 1010 .
0.061 +0.004 |
A=
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#1 | T 3} -
1] 1] 1]
L] 1] 1]
% Jk | | 2s|3g
1] m. | #|F Il £=|g2
== Bl Q| ©
1] 1] 0| e | 1 =| &
1] 1 i
#7 1 L] -
—
1.80 5B
0236 <0012 ‘ g7 M =
= ‘=|'N
—E=Ea
f$|5i$ 2|3
§ § 0.156 +0.008 % %
| & ==
::ﬂJJ7 L____ li. (:I
I
a. :
0.
0.60 +0.20 ,
0.024 +o.008 |




